PROFESSIONAL EXAMINATION
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Topic:- General Hindi

1) 5 Bva & TS IR H 28 HEATE Bielt & 3MX 3= H Y 3R i 1% aof sraza g @fee |
TOH gfd 16 AUT12 AT F A gl 8|

1. gRfifdT B
2. fifdd1 &<

3. 3Tl

4. Al

Correct Answer :-

. shofifder o<

Correct Answer :-

. T

3) ENROLMENT’ UTRHT® ek HEd &
1. THH

2. THITh T



4, ATHIHA

Correct Answer :-

4) '3 Tgd I §91 T3 &:
1. B

2. PHIS

3. BT
4. BT

Correct Answer :-

5) I BT ATH Jar3il:

fipwr & J9 a9 3G BIH A SaA T
Y IS AT YABY HIad I e il
HHR ¢ 39 §HR WF I H Hd US!

P §U IE UIYUM Bl Y ISR WI!!

1. 1Y ™

2. 4R ™

3. A5

4, Y XY

Correct Answer :-

6) aTuT & Y Sl @ 3 s

1. IR, effdet, Tamelt 3iR aal 3nfg & guTad §-Y &1 A1 |
2. Tl sifeet, ameif 3fR qal onife &1 guTad ST Y& afeu|

3. fafay, affpst, Tamait 3R aeal anfe & uRafda s @nfeul

4. fofday, siferst, franatt ok qut onfe & guraq ST a1 =R

Correct Answer :-



. TR, sfiesi, dxmeff SR al 3fq ! guraq s 38T 91|

7) W& & g o= 8 fp a:
1. Teft, TR, TS, DRI IUT WY U H U 81|

2. e, TR, TES, ATHRUI-SRHI qUT WY HTH T HE&TUT TR =T A5 |

3. e, TR, SIS, HTHRUI-THI qUT WY HTH H HET0T TRd =T 164 |

4. reft, BT, TS, ATHRUL-THT AT TP HTHT H H&YUT TRd H=T AT

Correct Answer :-

. e, IR, TGS, ATHRU-THAT U T I & T 81|
8) 3(TIPR BT AT TT3H:

R JHUPR g, T4 6 TR T,

3T gR-gR W g foar g3t 716t

a5 fA=fy &1 e an weT fae= 211

1. 3o 3fABR

2. IR DR

3. Hdg 3fAbR

4. AT SreipR

Correct Answer :-

Correct Answer :-

. Sffazifad daR



10) “qUI HT faeid W< &
1. 3fwom
2. 3fcTehT
3.

4, faguon

Correct Answer :-

11) <3(Ue 3R 3rug’ HT T 3 82
1. fas®! MR ok 7@

2. TRATSN Igd 3R &arl

3. GRaTeN IMed SR drdl

4. IR 3R ™

Correct Answer :-
. TR IR TH

12) “JHUD UAST HET A UHIRIG gid &2

1. SR

2. M

3. Ygsld

4, Yo

Correct Answer :-

13) ‘GgHT TS g HEa &:
1. MEJORITY
2. MAJORITY
3. MAJORETY

4. MAJORITI

Correct Answer :-

e MAJORITY



14) Her TRUIN® e Hgd %
1. FACALTY
2. FACULTI
3. FACULTY

4. FECULTY

Correct Answer :-

 FACULTY

15) @Sl 3R @R BT 34 8:
1. TR R TS

2. JUAMR 3R THBH

3. TS Y Gard AT 3R g1

4, THBI 3R TH

Correct Answer :-

« SUONR 3R 9D

16) frer &1 yufgarh sage?
1. HTAR

2. TR

3. I

4. 918

Correct Answer :-

17) <3@RIY 3R faRier o7 3rdf qaan?
1. AP SR ot

2. 3% SR AR

3. A% SR TR

4. % AR foef

Correct Answer :-



2. JHD
3. g%
4. BB

Correct Answer :-

19) ‘TR’ | S AT HAN §2
1. IGSY TN

2. FHYRY TN

3. 48 9

4. fg oo

Correct Answer :-

. HHYRY AN

20) 3T A Y ST YaTar o7 31 3:
1. 1Y YSHTHT

2. 1Y id DA

3. 1Y YebTSHl

4. a9 AT

Correct Answer :-
o DY USHMT
21) <3E@ o1 34 §:
1. TTH A B el
2. UG, TfagH, 3fed
3. Tad, e, 3cd
4, TS, 7B, 3fed



Correct Answer :-

22) HIA-HHTS BT RIS {33 =1 grm?
1. g BT JHTS

2. e 3R FHT

3. ‘qifecd H AT

4. e ¥ AT

Correct Answer :-

23) @GA-G@ HeTa? F1 34 &
1. I B HHI G

2. yg-fa g

3. WIS g

4. Y- fa g

Correct Answer :-

o yafd g

24) ‘FAFEI-B! MU e’ Uit H8T A USRI il 82
1. R

2. TETTR

3. TSIgR
4, M7

Correct Answer :-

25) URIET A DI TE1 STAT?’ T TR B AHRIWD aTH | IGfeIg:
1. T TR S1a BT 67

2. T A TE A & |

3. ORI It BT X B



4. e ¥ g 1 S TS AT B

Correct Answer :-

. TETY I S &

26) “FH~eT’ BT qATgaTH FATSN?
1. I

2. TR

3. gx

4. yffreT

Correct Answer :-

27) ‘SR BT QARG faUg =1 ghm?
1. 39 8 T forgas sruf raur

2. THHE G Sl

3. G q@

4. 395 g9

Correct Answer :-

. T T foras sryfe raqur
28) <31 BT Y §:

1. Y1, UTAISH, RSAT

2. Y, TANT, ARSAT

3. 4, Yo, Y

4. Y1, TAISH, RS

Correct Answer :-

29) @I’ 3w BT 34 §:
1. TR M 3R R

2. BIC (TH YHR BT I) 3R o P SHUR Ug- arall I



3. forett SR BRI
4. T IR S

Correct Answer :-

. foran iR IS

30) ATHRIS T AT T 2
1. dord

2. TorE

3. Hifcdh

4, faamht

Correct Answer :-

31) @D B Wl dell § T Had 82
1. 34

2. &l

3. 3l

4. 5t

Correct Answer :-

32) INRAR & @Sl dielt & T Hgd 82
1. 3ifeft

2. GeRT

3. 3Tl

4. 3R

Correct Answer :-

o R



1. W19 3R 3T+
2. 3T 3R LTI
3. 31T 3R 3
4. 31T 3R g

Correct Answer :-

. 3 3R T

34) gt faweq Farait:

g SR AR S aay A Ui Ftaten_ H afari 31
1. G&I® HIA

2. @ BT

3. GUS HTH

4, UdY HTg

Correct Answer :-
o JdY HIY

Correct Answer :-

« e 3R TG

36) gl faweq Farail:

$T AT oita 3 awadl iR PR @te=nd . FRarg |
1. PRI T GaR PR © |

2. T BT FIR HRATR |

3. 3{TRT &1 YIR FRAT§ |

4. 1Y BT HIR FRATE |



Correct Answer :-
o TR HTHIR FRATB |
37) 9a! faweq gfuw:
[0 BT & TS+ YAT YU Ud T BT & G- aUT 4q01 § Y
e 3T~ UTW §iaT o,
T HAA  wgdaErgl
1. 3
2. Xeg-Tferd
3.39

4.0

Correct Answer :-

38) «3Al P ST A qTA” B FT HEd 82
1. TOAAAYTH

2. TR

3. TGACR™

4, TGARTE

Correct Answer :-

o TR

39) “guR| & UGN SHfad 7§ I1e” B R Fgd 32
1. WRIshHT

2. RIUBRT

3. QRISiIGt

4. GRSitdt

Correct Answer :-

40) 5T ®1a0 F T w1 T ? fF Py efeie o die uRig A 2 1



1. Hgl I

2. HoIh BIH

3. 31Yd BT

4. g BT

Correct Answer :-

. AgT P

41) YTaRT FaTa:
IBIADWIATA W gral st adi g
1. HH DT

2. Tt o AebTe
3. HH Bg AbTe
4, {1 o FeTe

Correct Answer :-

. W9 7E Reem

Correct Answer :-

. A

43) fireTs fIoTs fPu T gU BT AR B2
1. fomdia erdfw

2. PR IR FRd®

3. A1 3R fRde

4, Qd SR A

Correct Answer :-



44) TH I BT Y§ Y TATSY :
& T &

1. TR BT M

2. g 3rewy fe|

3. g3 3R ¢ ¢

4. g3 3G ¢ &l 4t

Correct Answer :-
. T3 3w fear|
45) 39 U B S A U 3R 1 3w Y wxA #1 IR &
# 9 98 W WY W Had g B,
3T § S| TET el ST E,
3R 39 W fig v@dr § 74 W #,
9 @8 AR WIdATdl SoTaT |
Hq e, A9-9F © I8 urA, foraat
FeqT @1 Sty H i aR R R,
911 €1 B faeRY & 16 $aa,
Wy & Wt g1Y § 9eaR gl 3
WY- Py IRIaa Ufaal & ATeaw A o1 TS S T 82

1. fd Hg1 T8l & fb B H Had HeuT W g MR gid Sfep T & RIdd W 1l =G o1
g 3R HoR Ul B U W I 14

2. B BT 18T § b B HH Had Heu-T W g NYIRT T8t 8l 9fcp TR & RIdd W T8l IRA
WTd § 3R HoR Uil Y HII R S8 Id 2

3. Hid Bl IedT § fob Bfd HH Had BT TR & NYTRT 7! Bid Sfep TS P RIad R W A
T & 3R HoR IUTd o HAIct WR T8 H WId 2

4. B3 BT A8 & P Hd HH Had Heu-T WR 81 MR Tet Bd Sfep TS b LRIad W H IRE St
g 3R HoR Ul B HIIA W HY T4 B

Correct Answer :-

« Hfd BT I8 & fb B FH HId Hed1 IR & 3R T8 Bid afcd TS P LRI TR H IRA Il
g 3R B3R U 1 HII W B Sd 8



46) HYFI qTHT T3 —

AT 3 T B TgA B B A Wl
1. = 3 Al I g iR o d Joll|
2. T 3 9= & G 3R WHd el
3. 11 A 9 &1 W@ d Vel fhR e
4, OF 3 = BT TgART 3R W Hofl|

Correct Answer :-

. T T DI TR IR Wl Wl

47) Hg! faveq T

W ¢ 3R e 3rig fa=ma &1, favte &1 gy it 31
1. 3l =U

2. 3=y

3. 3 =Y

4. IS =Y

Correct Answer :-
. A< EY
48) Wgl fawe gHu:
BT | AT qTAT TG HYT T AfPH AHY___ T gl
1. 3[cAfcbeh
2. 3fcifch s
3. Jfaifud
4. 3fcllfbed

Correct Answer :-

49) 39 AT P Y *U TAT3T:
IR Id WX A TR IET
1. R 7 B F SR

2. H R 1 ST 8T



3. IRI-TRY d § ST 3aT|

4. 31d | ST

Correct Answer :-

« T IR Id SR @

Correct Answer :-

- fogt o1 ATen

51) WE fImed gRT TR IR FHR:

HTHT HH AT ¢ $UH ol WAl SARa gt g
1. eafaT GahdTaTe a1 UditdeTe gl g |

2. AT G aTE® AT Ui il & |

3. @l YhaTdd a1 TR il & |

4. ST Gh AT T SUHBIED BIch 6 |

Correct Answer :-
. G Gohdad 1 UdihTa® gl ¢
52) B¢ BT ATH IdI3i:

gd & 7 | Syl @ st s A
YIP T PART A B U= -1
[ YTl § YIS TG URAT &1
THad® oE forg # S HAT TR 1
1. IcTe

2. giafifdeT B<

3. Tifdw o<

4, AR B<



Correct Answer :-

A IREAE
53) T+q BT ATH IdT31-

TTH 24 AETE gt €, Srufa faus ==Ron & 11-11 AEME 3R 99 TR & 13-13 HETE | MRl 3R
aRedl wrEe wR AR BT 81 3 H gl TR 811 AR ® B |

1. 3cdledl

2. AT <

3. Rl B¢
4, AR <

Correct Answer :-

. JA BT

54) R 9T D1 Y& aTR | dGfarg:
3Tl Ga§ IoB 39 g¥ far

1. 3151 98 Yog o1 &1 33T &l 81 39 g¢ |

2. TS 98 Yag IaT 3R 39 g8 o)

3. 31191 o 98 a8 331 a9 39+ gd |
4. 3175 goIg 33d g1 39 g o

Correct Answer :-
. 31 98 Yae 3371 3R 39+ g¥ |
55) TS aTF] FHTSM:
oI qui gidil @ AT AR AT A g 1’
1. SR 81 auf g @l § AR A/ @ &
2. IV GIch § O AR g1 A1 &7 § |
3. g1 g IR AR ATaH g aTd & |
4. I B R AR AH T 8

Correct Answer :-

. 9Nf g W AR AreH @ d &



56) HXW T &1 fHY a1 § Fgferg:
‘g[S qa aTdl Bt BIg AR L BT l’
1. Y3 ST ¢ PIs AR -5 BTl

2. St 33 I & 36 PIs WR 5] ball
3. 911 3 SISl § BIs 38 WR HRT gl |
4. 3B BIAT & I Pls WR gl Hrall

Correct Answer :-

. S IS AT 8 I BIs WR el BT

57) 33 9T BT Y[ ¥ I13T:
qEg R A AP IBAT I’

1. 98 X I IR 3o ¢ |

2. TR IUBR I3d ¢ |

3. 3 T Wi I3dT ¢

4. R IF TR IoaT g

Correct Answer :-

. FBRIYP I3l
58) T DT ATH T3

g ARG 0T R, a5 W S S,
2 O &3 ara®| b1 ogg-Hed HR as |

1. PG
2. 4R
3. A5 g

4, HYdh XY

Correct Answer :-

59) f6d Bg & TS TRUT H 26 AIATE BIeI1 ©; 14,12 YT 12,14 T FA Bt B 3R 3,10,17,24 AF
AT Sifvrarda: @y 1 it 81

1. Jexdlell

2. ghefifaT



3.3l
4. it

Correct Answer :-

60) T faH ey GIRT IR T HA:

yroT aifYe @afrddas

1. TS SO SOl ! e o Wabdl! BT SR Bl 6 |
2. AT 3UT YAl & GeradT § Habdl! BT SR Rl 7 |
3. U 3O ATt ot TerraT ¥ Habd! o1 S=RUI HRll ¢ |

4. AT 3O St o) TR § Hobdl BT IR el 5|

Correct Answer :-

. TTS SO I Bt e ¥ Hahd BT SR B 3
61) WY ITEfR5® Ahd § | TTefs® | areud § |
1. 3BT Y Sl 18

2. G914 ST IR gadTs T8
3. 3RS H

4, U5

Correct Answer :-

62) 3 T B! W I U 3R 2 f3u T =z +13wR &

T 989 FT 51 ZrAS W g3 Tl Mieh ot F e &1 37 W 3aHT 3R g3 5 I SruAr wv SR S
ATAT-fUdT B BISHT HR 3 T8 3R T St & J1Y HTH B ol | ISt $ UrT el 916 Sei4
IR ST & TP TSI 7Ta, Aqeit & MuTer YT Y RITIAT BT 1 I 31yH H WRT 961 BT g0 RT
Y Taq UIe Ft T@UTA H diaqar T Afe-T Aqdl a & AR & Sal § 99 N GaRATh
SR T8d 1 UgTS Al H SR 919 P TR 91 38T & | STd Ped b SR PR FI darwr A
arg Hft-Fft iTa 9 uga Sa &1 Aaelt Ma W TH IR a8 §3MTI TH 919 A Md H gD TP MY B
AR STAT| aE 81d 81 U8 WaR 7T ¥ et 75| S U T P @RI TUTE ST T AR I @i A /Ry
¥ B! Ut Riar Sarg |

Y - HRT 984 fHad 1Y HTH H31 2



1. HRT 96 483 Sl & 1Y H1H B & |
2. YRT 951 711d aTdll o |1 HTH B ot |
3. HRT S8 3R St & 1Y B1H B el |
4. TRT &1 el it o 1Y HTH R T |

Correct Answer :-

o HRT a8 e St o 1Y B B A

63) 9 e D! U 4 U¢ 3R 1 feu 10 yzq #1 I« &

HRT 98 &1 79 $7ds § g3 AT | ek oft & faemRyY &1 37 UR 31 3R g3 fF T 3= wR 3iR 3™
ATAT-fUdT B BISHY HR 3 T8 3R TR St & 1Y H1H B ol | TSt & ufg el 91¢ S5
IR ST & TP UgTS! 7ia, Aqat & MUTe YT St RITIAT BT | I 194H § WRT 961 BT g0 GRT
T uTerq uxgsi #t T@uta § dtaar o1 afea Aqelt M9 & MU & STal # 97" 9 WaRAd
STaR Y 5d 1 et TTal § SRR 91" BT S 911 38 dT 8 | STd e &b PR RIPR ot aarr o
a9 -3t Ta 9 uga 91 7| Aaeht via § v aR gg g34T1 TP 91" A g § gD TP M Dl
AR STeT| Yag &1d &) 98 WeR 7ifa § et 71 S §T TI1a &b ANT MUTe ST Y 3R S w1 = iRy
T B! U Riar Sarg |

Y- WRT 951 A f5a Syd 3 g1 952
1. HIRT S8 A TUTe ST Bt RIGAT Bl |

2. HRT S8 A graTa- 3YH B VI Hi |
3. HRTE8 7 3 SYH B RITYAT B |

4, BRT I8 = HWT 31T Pt RITYA Dl |

Correct Answer :-

o HRT TG A T STYH I RITYAT Bl |

64) 39 T B U 4 U¢ 3R i fRg e g 1 3aR &

HRT 98 &1 979 $7ds § gaim o1 ich oft & faemRY &1 37 WR 31 3R g3 fF T 3= wR 3iR 3™
ATA-FaT B BisHR HRA 31 78 3R Tih ot F w1y o1 S @ i1 red & ufa 9re 91¢ 3=
IR USSR & TP UgTS! 14, Taeh & MuTe M &t RITYAT B 39 3myH H ¥RT 987 $T 950 IRT
T urerq uxgsi #t T@uta § dtaar ur afea Aqelt M9 F MU & STal | 97" 9 WA
SRt T8d 1 UgTS) Tial H SR 919 BT SR 91 38T & | STd e b SR AR $ qarwr A
a9 Ft-Fft Ta 9 uga 91 7| Aaeht ia A v TR gg g34T1 TP 91" A Mg § DR TP M Dl
AR STAT1 Yag 81a &) a8 @aR g § et 751 SY gU e & &R iuTer STy Y 3R I @ A Hky
¥ B! U Riar Sarg |



Y- SATATS! & frd AT & q1g HRT TG 7 SMYH D TG B 42
1. SATSITEY & UTd TSl TG S5 1 SMYH BT R B 2|

2. TSI o =11 ITel TG 51 SMTSH DT RITAHT Bt Y|

3. TSIIG] & TS AT TG 51 STYH Bt RITGT B i

4. 3{TSITE] o AT T 971G 351 S1HH Bt RGBT At

Correct Answer :-

. 3ATOITC! & UTT T 91 I8 SMYH D RITGT B At |

65) 39 T B I 4 U¢ 3R 0 g e g\ 1 3aR &

HRT 98 &1 579 $7ds § gaim o1 ieh oft & faemRy &1 37 WR 3aH1 3R g3 i 3 3= wR 3iR 3™
ATAT-FaT 3 BisHR HRA 31 78 3R Tish St F w1y o1 H3 @ i1 rerdt & ufa 9re 91¢ 3=
IR USSR & TP USTS! T4, Taeh § MUt MeH &t RITYAT B 39 3myH H ¥RT 987 $7T 950 IRT
Ty urerq uxgsil @t T@uta § dtaar a1 afea Aqelt M9 F MU & STal # 97" 9 WA
SR H T8d 1 UgTS Tial H SR 919 BT SR 91 I8dT & | STd e & SR AR F aarwr A
a9 w1t Ta 9 uga w1d 7| Aqel id H Te IR T8} g3 TP 919 A i W gHB Th T B
AR STAT1 Yag 81a &) a8 @aR g § Tt 751 SY gU 1ia & &R iuTer STy Y 3R I @l A Hiky
¥ B! U Riar Sarg |

Y- HIRT 98 BT 57H HGI §3T UT?

1. TRT 98 &1 o7 S7ci | g Tl
2. HRT 9 1 o YIS | g Tl
3. HRT &6 &1 ST clfcbdl | g3l |

4. TRT 98 BT S SITa H §3MT T

Correct Answer :-

o TRT T8 &1 o §icis T g ol

66) 39 T B I 4§ U¢ 3R & fRe e g 13k &

HRT 98 &1 579 $7as § gaim o1 ieh oft & faemRY &1 37 UR 3aHT 3R g3 fF 3 3= wR 3iiR 3™
AT B BISHR YR 3 TS 3R T St & J1Y HTH B ol | ST F Urg el 916 Sol4
IR ST & TP TSI 7ia, Aqelt & MUTer YT Y RITIAT BT | 37 31yH H WRT 981 BT Igd ART
Y Taq URIe $t T@UTA H diaqar T Afe=T Aadl 7a & AR & STal § 919 S GaRATh
SR W 38d A1 UgTS) gl # 3[R 919 BT 8% 91 Igd1 ¢ | STd $ed & BRI PR 3 o &
a9 Ht-Fft iTa 9 uga Sd &1 Aaelt Ma W T IR a8t §3MTI TH 919 1 Md W gD TP MY B
AR ST | a8 B1d 8 U8 WeR 7T & et 75| Y U T P @RT TUTE T3 T 3R I @ 3 /R
T8 B! U Riar Jarg |



Y - {1 95 frd SlsHy YR 3 e A2

1. HRT 98 BR 3R 370 {111 ) BlIgdhr HRd ST |
2. YR 9671 T 3R 30 AT o) BISHR URA TS|
3. HRT 961 R 3R 30 GIRdl Bl BIGHR HRA 3 TS|

4, URT -1 T d 3R 30 HTS-98 DI BIGHR HR ST TS |

Correct Answer :-

o HRT 8T W 3R 30 A1 B BISHR R TS|

67) 9 U D! W A U 3T - f3u ¢ vz S13wR 3

# 91 98 Sl WU W Had "el Hd,
3T H IHP) Tl ST AT §,
3R 39 W g Tar § T8 W
39 % dlaR BIard ISTAT g |
#Y TEY, 91-97 ¢ 9% 9, Rt
HU Bt ol H F oft YR A 8,
101 g1 B1d FaRy & 15 b,
@ & ¥ g1y A deER g B

TY-AF- T P 2

1. I IO Uferdt $iR “wfa’ & foe se1man g

2. HIGF K WP SR B & g T8 et T g
TG U A 3R B & faw st g
TG I At 3R & & oy el T g
Correct Answer :-

. TIYE U T R By % R e TR

w

N

68) S Ul ! W ¥ U 3R 1 f3T ¢ Y=+ &1 I« &

#A 9 98 &l WY R Had Je! 3,



3T IS Tl AieT ST E,
IR IR AN v@ar g A W3,
33 ORE ¢1OR BIATd SoTaT g |

# 7Y, A9-94 © T 9, Rraat
FAANT P SAH F oft TR BN &,
77 € B Y & =16 Faa,
w@u & W gy § aear St 21

Y- ¥ & 1t g1y H deaR gl 8 | HfY &1 Fan areud 82

1. U & f gTU T TR il 8 U HId BT Aldd ¢ b WY 9 o & B ok Bi &HAT @ 5, 3R A
& wifdeRI 81d g

2. WY & Ht §TY & AR Bl 87 W B &1 e § b vt $8 R T[oRA & emar ad 8, 9 o
HifdHRI g &

3. WU & Ht g1y & AR Bl 8 Hid &1 I g o v Ht $3 IR [oRA & & ad 6, d
HifdeR T8l 81d & |

4. T P 1 7Y & TR It 8°  Hid B AU § o WU & B [oR- $I &HdT 71 3@d o, 9 4t
HifABRI BT |

Correct Answer :-

. WU i e H TaR Biet & Y B BT 1 § 7 W 1t 5 B ToRA Bt eiaT @a g, 9 ot
wifadr gld g

69) 9 U ! W 9 U 3R 12 fT 7T g7 1 I« &

# 9 9% ol WU IR Had Jg! B,
3T & ISP Tl EeT STl §,
IR IR ANav@ar g A W3,
39 TXE 1R Blardl ST g |

A 81, 99-97 3 95 94, et
FAN P SAH F ft TR BN &,
17 € B Y & =16
W@y & ot g1y A qerER S R

UY- ¥qY U TS HAT BT HT dIeqd 22



1. fd &1 I 1 781 8 fob 98 hdd WU 3UTd Hed1 DI Bl YR &1 HR BT Ydl §

2. B3 BT AT g [ 98 Had Hea1 DI B YR T B BT I BT 5 |

3. B BT IO § o 98 Had WY SHUTd B B Bl SMUYR T HR BT I Tal PRAT 6 |
4, i BT A ¢ [ I8 HId WY S1UTd HedT B Bl YR T HR BT X1 BT ¢ |

Correct Answer :-

. B3 BT Y g f 98 Pad WY YT HU-T Bl B YR T B BHTod T T8l hal ol

70) 9 U ! W 9 U 3R 12 fT 7T g7 1 I« &

& 98 o WY W Fad 98 F1q,
3T & I Tl AT AT §,
IR IR g v@ar g A W3,
39 IYE ¢lOR BITd ISR |

#9 7Y, A9-94 © I 9, Rt
FAANPISAH T ft TR A &,
107 §1 g1 fraRY & =18 S,
@y & W gy § aear gt 1

WY- “BIATd AR ISHT BT T AT g2

1. IATE! AR ISHT &1 Alqy § IRATADHT & 31 Bl YR 1 HR BT FoiT HRAT|
2. B! AR ISMT BT AT § HARATADT B 31 B TR T HR DT ForT AT
3. B! SR IMT BT AT § TRAMADH T & avd B SR T HR BT ForT BT

4. “IArd! AR IS BT AT g IRATGBdl b 319 BT YR FT HR BT JoidT BT

Correct Answer :-

. “TIARE] AR IS BT IR & IRATGH AT P 31 Bl YR §7 DR BT JoiT HIAT|

Topic:- General English

1) Choose the option that best transforms the given sentence as directed:

This is the camera. | took the pictures of the party with it.

1. This is the camera into which | took the pictures of the party.



2. This is the camera through which | took the pictures of the party
3. This is the camera in which | took the pictures of the party.

4. This is the camera with which | took the pictures of the party.

Correct Answer :-
e This is the camera with which | took the pictures of the party.

2) Choose the most suitable determiner for the given sentence:

players were fined for swearing at the umpire.
1. Another
2. Both
3. Either

4. Neither

Correct Answer :-

3) Choose the most suitable determiner for the given sentence:

university is no place for politics.
1. An
2. Any
3. The

4. A

Correct Answer :-

4) Choose the correct form of adverb for the given sentence:

____,lwas able to attend the wedding.
1. Instantly

2. Luckily

3. Suddenly

4. Wistfully



Correct Answer :-

o Luckily

5) Choose the correct form of adverb for the given sentence:

They were questioned.

1. repeatedly
2. restrictively
3. reportedly

4. repentantly

Correct Answer :-
* repeatedly

6) Choose the correct form of adjective for the given sentence:

Courage is a mental state and so, it gets its strength from spiritualand _____ sources.
1. superficial

2. social

3. intellectual

4. intelligible

Correct Answer :-
e intellectual

7) Choose the correct form of adjective for the given sentence:

She cannot use her ______ hand.
1. deformed

2. useless

3. sick

4. hopeless

Correct Answer :-

e deformed



8) Choose the correct form of modal auxiliary verb for the given sentence:

If he discovers the truth, there's no knowing what ____ happen.
1. might
2. would
3. should

4, shall

Correct Answer :-

9) Choose the correct form of verb for the given sentence:

As aresult of the fall, he___ home slowly.
1. stepped

2. wound

3. limped

4. sped

Correct Answer :-
e limped

10) Choose the correct form of expression to complete the sentence:

He persisted in disobeyingthe
1. requests

2. orders

3. rules

4. doctrines

Correct Answer :-

e orders

11) Choose the correct form of expression to complete the sentence:

Being dissatisfied with his job, he resigned from his

1. status



2. chair
3. position

4. rank

Correct Answer :-

e position

12) Choose the correct form of tense for the given sentence:

The valleys are too steep for elephants to get across to the wet side where bamboos
1. will be growing

2. must be growing

3. can be growing

4. grow

Correct Answer :-

13) Choose the correct form of tense for the given sentence:
He usually listens to the radio, but at present he television.

1. has watched
2. had watched
3. watches

4. is watching

Correct Answer :-
e is watching

14) Choose the correct form of tense for the given sentence:

He ____ very little when there are strangers present.
1. had always spoken

2. was always speaking

3. is always speaking

4. always speaks

Correct Answer :-



« always speaks

15) Choose the correct form of tense for the given sentence:

My brother ___ to Kampala next year.
1. will go

2. had gone

3. has gone

4. went

Correct Answer :-
* will go

16) Choose the appropriate preposition for the given sentence:

Thesunhasgone_____ acloud.
1. after

2. by

3. behind

4, before

Correct Answer :-

e behind

17) Choose the appropriate preposition for the given sentence:

He tried to conceal his identity ______ disguising his appearance.
1. by

2.in

3. into

4. to

Correct Answer :-

18) Choose the appropriate preposition for the given sentence:



The professor has been absent ____ Monday.
1.0on

2. since

3. from

4, last

Correct Answer :-
e since

19) Choose the appropriate prepositions for the given sentence:

He is always a hurry; he drives a tremendous speed.

1. off, for
2. into, on

3.in, over

4. in, at

Correct Answer :-

20) Choose the appropriate usage to fill in the blank:

The essence of the talkwas _____ misunderstood.
1. completely

2. minutely

3. significantly

4. greatly

Correct Answer :-

e completely

21) Choose the appropriate articles for the given sentence:

happiness and love surrounding newly married couple was evident.

1. An, an

2. An, a



3. A, the

4. The, the

Correct Answer :-

e The, the

22) Choose the appropriate articles for the given sentence:

aspirin day will keep heart ailments at bay.

1. An, the
2. An, a
3. A, the

4. A a

Correct Answer :-

23) Choose the appropriate articles for the given sentence:

Singletis ___ word that should bein _______ dictionary, but isn’t found there.
1. a, the

2. the, a

3. an, the

4.an,a

Correct Answer :-

24) Choose the appropriate articles for the given sentence:

The employees were having
auditorium.

important discussion on corporate governance in

1.3, an
2.3,a
3. the, the

4. an, the

Correct Answer :-



25) Choose the correct form of verb for the given sentence:

I have often why they went to live abroad.
1. surprised

2. wondered

3. thought

4. puzzled

Correct Answer :-

 wondered

26) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The underlined word ‘cartographer’ in the Paragraph 2 of the passage means a person
who

1. studies and makes maps
2. designs globes
3. looks into the geographical boundaries of the earth

4. sketches route maps

Correct Answer :-

 studies and makes maps

27) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: What is the highlighting feature of the AuthaGraph World Map?

1. It seems to have solved the issues using geometry only

2. It stood first among a thousand entries in various categories only

3. It divides the globe into ninety-six equal triangles and projects them onto a tetrahedron shape only

4, All of the above

Correct Answer :-

e All of the above

28) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: According to the passage, which of the following projections is not practical for sailing
in the waters?

1. Galls-Peters Projection
2. Mollweide Projection
3. Mercator Projection

4. Boggs Eumorphic Projection

Correct Answer :-

e Boggs Eumorphic Projection

29) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The AuthaGraph World Map has been designed by:
1. Galls-Peters

2. Boggs

3. Gerardus Mercator

4. Hajime Narukawa

Correct Answer :-

» Hajime Narukawa

30) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The Good Design Award is the brainchild of which country?
1. Argentina

2. Brazil

3. Tunisia

4. Japan

Correct Answer :-

Topic:- General Knowledge

1) L 3 o3t ,
2 of 4 of a number is 120. What is the number? /{0 ST & ¢ &1 2 ; 120 P WIR 8| 98 H&I

Pt 82
1. 256
2. 250
3.320

4. 160

Correct Answer :-

« 320

2) Five boxes A, B, C, D and E are placed one above the other. If A is above
B, C is above D but below E and D is above A, which box is in the middle?/

TS A, B,C,DIRETEFFWIMLEITTA BFFWRE, C, DFFWRIFIEF
dR g 3R D, A & FW g, dl 9 § B9 AT T 182

1.D
2.B
3.C

4. A

Correct Answer :-

« D



Choose the appropriate combination of signs to solve the following

expression./ 9 TSP B g6 HIA & (AT Hhdl BT SUgad Faror g |
16 *8*1 %8

1.=-+

4) 1f 4th of March, 1997 is Monday. What will be the day on 8" of March,
1998?/ 4f¢ 4 WK, 1997 &I AHAR 1 8 ATH, 1998 &I &I AT fad N2

1. None of these/ 370 4 ®1s g
2. Sunday/ JfddR

3. Friday/ aR
4. Saturday/ AR

Correct Answer :-

. Saturday/ IfAR

5) In a certain code language ‘MONKEY’ is written as "XDIJMNL'. How will
‘TIGER’ be written in that code? /&t fAf¥d $e yTar &, ‘MONKEY’ &1 forad &
‘XDIMNL' 39 ¢ ¥ "TIGER’ &I 4 ferar wmamm?

1. SDFHS
2. SHFDQ
3. QDHIS
4. QDFHS

Correct Answer :-

6) In the following question, select the related letter/word/number from the

%g;n alternatives./ fFAffad yz= # fau e foeeul A A SwfRd sieR/rs/en &1
|

SIGNAL: TRAFFIC::/ H&dd: JTdrTd::



1. Dam : River/ /¢ : 7}
2. Door : House/ G4l : YU¥
3. Lens : Light/ T4 : U&=

4. Brake : Wheel/ ¢ : ufgan

Correct Answer :-

. Brake : Wheel/ 34 : ufgar

7) In the following question, select the related letter/word/number from the

%ggn alternatives./ fF=fefad uza o few e fawenl A & Twafa sigR/Rreg/€E &1
|

CD:34::AB:?
1. 21
2.25
3. 68
4,12

Correct Answer :-

8) DIRECTIONS: Question are based on the following figure. Various letters

represent various types of persons./ fd=r: ug uy fFafafaa awﬁrw GIT'EITW%I
fafira sreR fafira R & safaaal &1 gxiid 3

Square - Clertk / & - For

Triangle - Bachelor / e - afaanfy
A D Rectangle - Player / yaz - faamd
1 B E Circle - Male / q.‘.—a _W

Persons who are neither bachelor nor male but player and clerk are

represented by which Ietters?/?ﬂ%\?ﬁ:{?ﬁ HﬁﬂT%HGﬁ?qum%, W@?ﬂﬁ
3R T ¢, B fopT 3raRY | gxifar ST Hebdr 82

1. L and H/L iR H

2.B and N/B 3R N
3.Band L/ B 3RL



4.B and C/B 3R C

Correct Answer :-

« B and N/B@ITN

9) DIRECTIONS: Which of the following can replace the question mark?/
frd=n: Fa o 9 o, vy e & ufawnfia s asar@ 2

DE-9, FC-9, LP-28, GT-?
1.35

2.8

3.27

4.6

Correct Answer :-

10) Shanu is taller than Anil. Raghu is taller than Chandra but shorter than
Brinda. Shanu is shorter than Chandra. Who is the tallest?/ 21, 3if9d &t ga=T
o T 31 Y, TS P g1 A T § U foer A 911 31 UM, IS $ g1 W Sier 8| J9d
ST DI 82

1. Chandra/dgl
2. Bindra/fsiar

3. Shanu /R
4. Raghu/}yg
Correct Answer :-

« Bindra/fsiar

11) Which figure represents the exact relationship with the variables
Language, Oriya and Urdu given in questions?/ iﬁﬂ?ﬂwﬁfﬂﬂﬁﬁ"{‘mm
TyT, AT 3R 3¢ & Fifa dde o1 gidi 82



1.D
2.B
3.C

4. A

Correct Answer :-

e A

12) Which river is mentioned as ‘Charmanyavati’ in Mahabharata?/ n'smﬂ?rﬁ'

BH- It 7 B IRUATE & A9 & I fEar T g?
1. Tapti/ﬁrl?ﬁ

2. Narmada/ =THaT

3. Chambal/ ¥

4. Shipra/ fémn

Correct Answer :-

« Chambal/ ddd

13) In terms of Percentage of Wind Power Potential Utilized, Madhya

Pradesh ranks among all the Indian states (As on 31/03/2016)/

a1 Sl &HAT & Ufa=Td ST & AER, It WRAR 30l § & 08T U= &1 R
2(31/03/2016 )|

1. Second/ ¢8RI
2. Third/ R
3. First/ Ugdl

4. Fourth/ T

Correct Answer :-

e Third/ dRRT

14) The cave of Adi Shankaracharya is situated at — / 3¢ BRI B BT Hal
fRag?

1. Omkareshwar/ 3FHRYR
2. Maheshwar/ II%%R
3. Orchha/ 3IRST



4. Dhar/ YR

Correct Answer :-

« Omkareshwar/ SMBRY

15) of Tikamgarh have GI Tag/ ReHG & # Sfems e gar gl
1. Bell Metal Wares/aﬁ%ﬂﬁ“v'ﬂﬂ'ﬂﬁ

2. Sarees/ ITa!

3. Leather Toys/ W@%f@?ﬁe{

4. Fabric/ ®UgI

Correct Answer :-

« Bell Metal Wares/aﬁ%ﬂﬁqlﬂ'ﬁﬁ

16) The length of a rectangle is twice the breadth. If area of the rectangle be

1250 sq.m., then length is:/T% 3T4d & TS, NSTs A T 81 Al Smad &1 &wa
1250 Tif fiex B, Y darg fpast 82

1. 40 meter/40 e
2. 60 meter/60 Hiex
3. 50 meter/50 Hiex

4. 15 meter/15 Hex

Correct Answer :-

« 50 meter/50 e

17) Aman walks 35 feet towards North, turns right and Walks 50 feet, turns
right again and walks 65 feet. He then turns left and walks 30 feet. He turns
left again walks 30 feet. Finally, he turns to his left to walk another 30 feet.
In which direction is Aman from his starting point?/ 3Hd 35 Tl IR Bl 3R
IadT 8, 31T HSHR 50 Wi IadT 8, I8 fpR 1T HSIN 3R 65 fihe gaar 21 98 fipe afg gsav
3R 30 Wie Terar 81 a8 fhR 91T gSH< 30 Wi Tadr 2| 3idd: I8 91T S 3R 30 Wicadl
21 3 39S URIY® fig A fra fem# 82

1. East /Uﬁ
2. South-West / <f&or.ufgy

3. North/ 3«
4. West/ TfgH



Correct Answer :-

. East/q\a;

18) The Alhait community of Bundelkhand sings about Alah Udul and the
wars fought by him./ SeAGES $T dad UGN AT 3gd 3R ISP §RT TS Y
g S IRATEIGI

1. 46
2. 50
3.48

4.52

Correct Answer :-

19) Where did Ustad Amir Khan hail from?/ 3%1q 3R @ #gi & farit 82
1. Indore/%ﬁ?

2. Gwalior/ TaTferaR

3. Jhabua/ ATg3{T

4. Bhopal/ Hare

Correct Answer :-

. Indore/ 38R

20) A and B together can do a piece of work in 4 days and A alone can do it in
6 days. B alone can do the same work in:/ A 3R B fia® f&dft a1 4 e A =
TPHd & qYUT A 3P A 3T BTH B 6 f1 A H TPpar 8, d@ B 3rbd 39 10 &I fha &A1 &
B2

132 132
1. 3days/ 3fe

2.12 days/12faa
3. 16 days /16 faa
4. 11 days/11 fa=

Correct Answer :-

« 12 days/12fea



21) A and B invested amounts of Rs. 40,000 and Rs.75,000 respectively. At
the end of five years they got a total profit of Rs.46,000. What is A’s share in

the profit?/ A 94T B 3 SHHTT: 40,000 TU TUT 75,000 =Y P AR 32 $Y) 5 auf & 3 A
I G A T 46,000 U Dt R YT BT | ST AR E A BT {31 919 B9

1. Rs.16,000
2. Rs.15,000
3. Rs.15,500

4. Rs.16,500

Correct Answer :-

« Rs.16,000

22) A and B can be do a piece of work in 12 days, B and Cin 15 days, Cand A
in 20 days. A alone can do the work in how many days?/ A d4TB i s
12 et #, B 9uTc 15 AT, c U1 A S HFH A 20 RATA BT ABA 8| A 3rPpar It

S P fba fe & s

1.15
2.30
3.24

4. 40

Correct Answer :-

23) Who was the founder of the Nyaya Darshana?/ <10 29 & JRIUS I 4?
1. Patanjali/ gdsifel

2. Kapila/ LA

3. Akshapada Gautama/ 3fefare; Mad

4. Uluka Kanada/ 3®I H-IS]

Correct Answer :-
. Akshapada Gautama/ 3f&dTc Mad

24) The present Governor of Madhya Pradesh Shri O P Kohli is holding the
post since - / A% WX & qad Iaurd 4t 3. 0. Figd! fa af d 59 g W Fgea gu

4

1. 2016



2.2017
3.2014

4, 2015

Correct Answer :-

« 2016

25) What is the maximum number of members from the Anglo-Indian
community that can be nominated to the Lok Sabha by the President?/?Tg'Clﬁf
ERT AHTHT & ATHIPd fFT 9 a1 Tal- IR TS & Jexdl @1 siftraay T@n i1 8?2

1.3
2.4
3.2
4.5

Correct Answer :-

e 2

26) What is the capital of Qatar?/ Hd P IS FT 8?2
1. Beirut/ S&d

2. Male/Iﬂ?I

3. Tehran/ dg3

4. Doha/ GIgl

Correct Answer :-

. Doha/EﬁBT

27) The value of (256)%-16x(16)%-18 js:/(256)%-16x(16)0-18 &7 M Fd HI |
1.8

2.4

3.16

4. 256

Correct Answer :-



28) On which river is the Kapildhara Waterfall situated?/ HIUAYRT STayaTd fob g
TR RATE?

1. Tapti/ S|4l

2. Narmada/‘lﬁﬂ'f
3. Son/ {IF

4. Shipra/ o

Correct Answer :-

« Narmada/ Hﬁal

29) Two persons enter a room in which 11 seats are vacant. In how many

ways can they occupy the seats? /WWﬁ 1 Fﬂ%%l aﬁa’rar%r&rrm 3 fpa yoR
A Y6 9Fd 82

1. 25
2.100
3.110

4.90

Correct Answer :-

30) The greatest number, which when divides 989 and 1327 leave
remainders 5 and 7 respectively is: /38 Tad I31 IS T g, foraw 989 Ut 1327 #
YNT 3 W HU: 5 T4T 7 AUEd gadl 812

1.8
2.32
3.16

4. 24

Correct Answer :-

31) The average weight of a group of 20 boys was calculated to be 89.4 kg
and it was later found that one weight was misread as 78 kg instead of 87
kg. The correct average weight is:/20 TSH! P 3Ad aui 89.4 fHur 3ifea forar mar)
a1 o 311a g9 6 U |1 87 foram & 41 wR 78 53 sifepa favam wan 81 9 ohwd awq 94
&



1. 89.55 kg/89.55 fooul
2. 89.25 kg/89.25 b3
3. 89.85 kg/89.85 &3
4. 88.95 kg/88.95 fabur

Correct Answer :-

. 89.85 kg/89.85 f&ur

32) If in a certain code language, PARENT is written as BDFGJK and
CHILDREN is written as MOXQUFGJ], how is REPRINT written in that code?/

gfe fdt fAif¥a ge yraT &, PARENT &Y BDFGIK a1 9iTe 8 3k CHILDREN &1
MOXQUFGJ forar St 8 ot 331 $e UaT & REPRINT & {5y yeR for@ae

1. FGBFXGD
2. FGBFXJK
3. FGBUXIK

4. BGBFXJK

Correct Answer :-
« FGBFXJIK

33) If in a certain code language, PROHIBITION is coded as 68032124205.
How will you code INHIBITION in that code language?/ afe T& Af¥a &e T #,
PROHIBITION %I $%c 68032124205 %I S PC 'l-I'I'EIT'ef, INHIBITION WW@T@"IT?

1. 2542124205
2.2532125205
3.2531214205

4, 2532124205

Correct Answer :-
« 2532124205

34) How many circles are there in the following figure?/ -9 & 75 3 fa # fraq
T E?



1.12

2. 14
3. 11

4.13

Correct Answer :-

35) Who is the author of the famous book ‘Two Lives’'?/ mw g digod” *
AP P E?

1. Arundhati Rai/ 3r54fd I

2. Ritu Beri/ﬁﬂaﬁ

3. Khushwant Singh/ @Rrdd g
4. Vikram Seth/ fasd 93

Correct Answer :-

« Vikram Seth/ fapa 33

36) Which of the following tourist-places is situated at Gwalior?/ fRafiRada
g Wyl A | $IF- 91 arferar § fRia 82

1. Indira Gandhi Rashtriya Manav Sangrahalay/ &1 el A1f¥a Aa ST
2. Chhatri Bag/ SRR
3. Ashokan Pillar/ 3{=0d &Y

4. Tomb of Ghaus Mohammed/ T HIGHIG BT HHERT

Correct Answer :-

« Tomb of Ghaus Mohammed/ T HIgHIG BT HDHSR]

37) Which of the following rivers doesn’t flow in the Central India Plateau

region?/ Y URd UoR &7 & g & @ 19- W 98 &1 yarg 78t 22



1. Jamner/\_rl'l'ﬁleﬁ
2. Chambal/ ddd

3. Kali Sindh/ &Tait Ry
4. Parvati/ g

Correct Answer :-

. Jamner/\_rl'ITIﬁT

38) Which of the following districts of Madhya Pradesh is known as the
‘Gateway to the Southern India’?/ 9% U & fAuferad fore & & ®19- | 'gfémoh &1
TR’ & ATH I ST 7T 82

1. Shajapur/ RIMSITYR

2. Khandwa/ @gdl

3. Tikamgarh/m
4. Burhanpur/ §RgMYR
Correct Answer :-

« Burhanpur/ §XgM4R

39) Which of the following awards was founded in the year 1986-87?/ EL]
1986-87 ¥ fafifad ReepRI # & $14- |1 wutfua far mar ur?

1. Tansen Award/?—ﬂ:@?ERWR

2. Kalidas Award/ ST RIHR

3. Tulsi Award/ a8l QREHR
4. Kabir Award/ ®dR &R

Correct Answer :-
. Kabir Award/ HaR IR

40) Razia Sultana was the successor of - / IR e T fbaat SWRIfUSRY 4i?
1. Ruknuddin/ e
2. Bahram Shah/ dgXH RTe

3. Masud Shah/ HYq Qg
4. Balban/ ddd



Correct Answer :-

« Ruknuddin/ ¥HIg A

41) Bihari Lal who was famous for writing the Satasai was born in - / fSgRt

T Y s fore & fore wlieg A, 37T 917 Fal gai UT?
1. Indore/ $&GR

2. Gwalior/ TferAR

3. Bhopal/ T

4. Jabalpur/ SddYR

Correct Answer :-

« Gwalior/ WaTferaR

42) Who had founded the English weekly ‘New India’?/ o= s arafes g
T ot w3 42

1. Lala Lajpat Rai/ ATl AU ™A
2. Bal Gangadhar Tilak/ ST TR faa®

3. Bipin Chandra Pal/ faft= @i urel
4. Sri Aurobindo Ghosh/ &t 3Rfsa! Oy

Correct Answer :-
« Bipin Chandra Pal/ faft= <ig urat

43) Sarita and Julie start walking from the same place in the opposite
directions. If Julie walks at a speed of 2.5 km/hr and Sarita at a speed of 2
km/hr, in how much time will they be 18 km apart? /|l 941 Jal T &l fag d
TP & 9y R faudia fezmait § gemn yRy ol 71 afe 3wt it ssu=r: 2.5 feider aur
2 foeii/die g1, fraq v a1 371 g ot g 18 bt gt st

1.4 hrs/4 9¢
2.48 hrs/ 48%¢
3.5 hrs/ 59¢

4,45 hrs/ 4.59¢

Correct Answer :-

« 4 hrs/4dc



44) Where was Tatya Tope executed by the British Government?/ fafesr wwer
= AT €Y B BT HIRT YT?

1. Gwalior/’EITﬁRIR
2. Shivpuri/ REgd
3. Sidhi/ et

4, Sheopur/QtﬁFR

Correct Answer :-

« Shivpuri/ Ragd

45) DIRECTIONS: In the questions below are given three statements
followed by either 2, 3 or 4 conclusions. You have to take the given
statements to be true even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding

commonly known facts. /ﬁ%ﬂ ﬁ%%qwmﬁﬁ'%qwa‘mmma’rﬁw&z 34914

BT ATV HT 2 | MU fT T T Y T AT 811, U 81 SR R 1 a2 9§ R
81 32 B u Frsed u@ ik o« Fivfa & faw e frsesl § @ g U @ 9y 2 a9 g g
FY I e fear T g1

Statements: /®Y:

All ties are belts/ 9Hi € dee &

All belts are buckles/ Fﬂ-ﬁﬁﬁ_’ﬁ?ﬂ%
All buckles are socks/ Wt Ut 4Rt §
Conclusions: /fAsad:

I. All socks are buckles/ ?T‘l-ﬁ'l:ﬁﬁﬂ'rﬂ?
II. All buckles are belts/ 9 4¢t aee &
II1. All belts are ties/ At e T¥ §
IV. All ties are socks/ QT‘l-ﬁE'Ii'Fﬁﬁ%'

1. None follows/ 13 3fJIRUT Ta] HRl §

2. Only Conclusion IV follows/ &dd IV TR0 &Rl §

3. Only III and IV follow/ Had 111 YT IV T SITR0 HRd &
4. Only I and II follow/ dd I TYT IT T 3IR0T HRd &

Correct Answer :-

e Only Conclusion 1V foIIows/W IV 3107 W%



46) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'-'{r: ﬁﬁqwuﬂﬁﬁ$ﬂ?&ﬁ?m
a1 $o frepd fau e g1 sy AT T Sy & I AT @ YA 81 3 Tdga aa S i
Udid gid 8 1 It et @1 ufeu fibr au Fifeme f fau e faseul & F Hi9-a1 feed 2w e
FY BT AHETT TU I IR0 AT 7, IS Td9Td 9 $3 i g1

Statements: /®Y:

All men are parrots./ Tt GI'IHTﬂ, ?ﬁ?f?l

Some parrots are crows./ W?ﬁ?{, ?ﬁ'l'{%l

All crows are hens./ Hﬂ-ﬁﬂﬁ'l'{, 'ﬁﬁfﬁ%l

Conclusions: /fAssd:

I. Some men are hens./ W\’:ﬂaﬁ, Hﬁfﬁ%l

II. No man is hen./ ﬂﬁﬁ&nﬂﬁ, H‘ﬁﬂ%’f%l

1. Either Conclusion I or II follows/aT dl fsHY I I 11 3{I8R01 Xl §
2. Neither Conclusion I nor II follows/ FshS I 7 g1 11 GERZITUTW%
3. Only Conclusion I foIIows/WﬁWﬁfI &IﬂﬂTUTTﬂ_dT%

4. Only Conclusion II follows/dad FhY I1 GFJﬁTUT?ﬂﬂT%

Correct Answer :-
« Either Conclusion I or II follows/dT <l fAsHY I TT 11 3IR01 3l §

47) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘-‘d: ﬁ%mwmﬁw$u=raﬁ?wﬁ?
1 $o frepd fau e g1 sy AT T Sy & I AT @ YA 81 3 Tdga aa S i
Udid gid g | It et @1 ufeu fib au Fifeme f fau e faseul & ¥ Hi9-a1 fAeed 2w e
FYH! BT TG Y F IRV BT 8, IS TI7d a0 $© ot |

Statements:/ Y

All windows are houses./ 4! fasfeal, R 2|

All houses are chairs./ QT‘J-ﬁ‘ER, W%I
Conclusions: /s :

I. Some windows are chairs./ W@Sﬁﬂﬁ @‘ﬁf’m%l
I1I. Some chairs are windows./ W?ﬁh’[, f@@'%!ﬁ%l



III. All chairs are windows. /9t $Rfui, f&sfear g1
1. Only I and II follow/ %ad I 3R II 3FJERU B &
2. All follow/ it TR Hd &

3. None follows/ ®1g SIURUI Tg! Rl

4. Only II follows/ Had 11 3fIERUI HT §

Correct Answer :-

« Only I and II follow/ %ad I 3R II 3{I¥RUI HRd &

48) From which of the following districts was Alirajpur created?/ fFafafaa
oral ¥ @ 319- 3 o1 SrefiRTeTgR 9= man wan 412

1. Burhanpur/ §XgTM4}
2. Umaria/ 38RAm
3. Jhabua/ Tg3T
4. Vidisha/ fafem

Correct Answer :-

« Jhabua/ LTg3dT

49) The Fair of Kaluji Maharaj is held in the region of - / STl HgRTS &1 AdT
DH- ¥ &7 # smaford far wiran 32

1. Malwa/ HIddl
2. East Nimar/‘{agialﬂ S
3. West Nimar/ af3d fars

4. Bundelkhand/ §eerds

Correct Answer :-

« West Nimar/ gfgq fAurs

50) In which year were the Gundecha Brothers awarded Padmashree?/ foa

a9 # a1 Y o RIh e R I e far mar ur?
1.2014
2.2012
3.2015

4. 2013



Correct Answer :-

« 2012

51) In which district is the ‘Shree Singaji Thermal Power Project’ located?/

<sft RiTITSit a1y foetelt wa= ufEisT fa o A fRua 82
1. Shahdol/ TgsI@

2. Khandwa/ @edr

3. Burhanpur/ §RgHYR
4. Rewa/ a1

Correct Answer :-

« Khandwa/ T&di

52) In which state is the Sahayadri Tiger reserve situated?/ Tg4Ifs 919 RIE
o dfREe?

1. Maharashtra/ HeRTY
2. Odisha/ 3nfgam
3. Karnataka/ ®lc®

4. Tamil Nadu/ dieTrg

Correct Answer :-

« Maharashtra/ HeRTY

53) The area of a sector of a circle of radius 5 cm, formed by an arc of length

3.5 cm is:/ 5 I Fwur ard 99 & Boads &1 &9wa 19 &, 5 3.5 G TS 9T 919 gRT
e Pt mar g2

1. 7.50 cm?/7.50 92
2. 8.5 cm?2/8.5 JH2

3.7.75 cm? /7.75 9412
4. 8.75 cm?/8.75 JH2

Correct Answer :-

« 8.75 cm?/8.75 9HI2



54) In a mixture of 60 liters, the ratio of milk and water is 2 : 1 respectively.
How much more water must be added to make its ratio 1 : 2 respectively?/60

ditex frgor & gur SR Uit ST Ut HURT: 2 : 1 31 fraan oiv sifafvea urit firemar sime anfes
SUTd HHRT: 1 : 2 § &1C?

1. 60 litres/60 e
2. 40 liters/40 dex
3. 54 litres/54 e

4. 52 litres/52 drex

Correct Answer :-

« 60 litres/60 die”

55) Roy walks 2 km to East, then turns North-West and walks 3 km. Then he
turns South and walks 5 km. Then again he turns West and walks 2 km.
Finally he turns North and walks 6 km. In which direction, is he from the
starting point? /374 2 f&tit qd &t oz Taar 8, fibr SwR-ufdm & g wirar 8 i 3 foeelt wraran
21 T Sfaror Y iR geav 5 fhdt aorar 21 98 fhx uf3g Y ok gear @ ok 2 frdft aarar 21
JeTd: I8 IR B 3R DR 6 fHt gaa1 § | 98 v+ R foig A fpa fezm d 31

1. North-West/3TR-uf3d
2. South-West/gf&mr-afgy
3. South-East/'cff\&FUT-‘iljic

4, North—East/BﬂQ-ELa;

Correct Answer :-
« North-West/3R-Ufgd

56) A 120 m long train takes 10 seconds to cross a man standing on a platform. What is the speed of

the train (in m/sec)?/120 HIeX TS B Th IS WEHTH IR WS TP HAfGd B TR B H 10
JHUS T HHY Ad! g | Y Bt e (A, B3 B9

1. 20
2.15
3.12

4.10

Correct Answer :-



DIRECTIONS: Select the pair in which the words are differently related./
e 39 g &1 T B o vreg R wu A awfia € 1

1. Hard : Stone/ 3R : TR
2. Gentle : Tender/?lﬁltf:ﬁ'ﬁlﬁ
3. Soft : Wool/ d—H : $

4. Smooth : Glass / &1 : &G

Correct Answer :-

« Gentle : Tender/FlGFf:W

58) An artificial satellite can be tracked very precisely from the earth by

using?/ T% HHW IUUT F Ydt T g4 ISt a¥e A wraq & fore forayepT IuahT fvan wiran 3
1. Zeeman effect/ SITHT THTG

2. Sonar/ §MR

3. Doppler effect/ SR THTd

4. Radar/ 3SR

Correct Answer :-

« Doppler effect/ SI@R UHA

59) Sound cannot travel through?/ wﬁmmﬁwﬁmﬁmﬂﬁﬁ:
1. Vacuum/ fRata

2. Steel/ ¥Id

3. Hydrogen gas/ E'I'&'T;ﬁ\—:ﬂﬁﬂ

4. Water/ SId

Correct Answer :-

« Vacuum/ fRafd

60) The most commonly used metal in domestic appliances is?/ ‘cﬁﬁmﬁﬁ
HaTRIe HIRIT eTg SUANT B STel &

1. Iron/ FﬁET
2. Platinum/ @feq

3. Zinc/ SRl

4. Aluminum/ TGy



Correct Answer :-

« Aluminum/ TegfHay

61) The metal that finds use in electro-magnet is?/ fagada 9a® & UIg &I areit
RS o1 P W 8

1. Zinc/ ST

2. Soft iron/ RH @G
3. Copper/ didl

4. Chromium/ SIfaaq

Correct Answer :-
« Soft iron/ XA AT

62) Human T-cell leukemia virus (HTLV-III) is known to cause?/ ECITFIEFT
AgHIEraT ST fIuT] ST I IT HR JHdT 8

1. Blood cancer/ % R Hb I
2. AIDS/ Tg¥
3. Cerebral haemorrhage/ BN

4. Hepatitis/ gUcigfcq
Correct Answer :-

« Blood cancer/ SfIR Heb I

63) From the given alternative words, select the word which cannot be
formed using the letters of the given word:/ ﬁyﬁr@aﬁwﬁﬁﬁagmgﬁwﬁ
Uy ¥ AU TN 2sg & H&RT BT W B 6] a9 ol Pl

PRONOUNCEMENT
1. PAVEMENT

2. NOUN

3. CEMENT

4, MOUNT

Correct Answer :-

« PAVEMENT



64) A man invests Rs.2000 at 5% compound interest. At the end of 3 years

he will get a total amount of:/T® AT 2000 TUY 5% TP Tshgf TS PI GT A
a1 wean 31 A9 9l arg 3@ o fhaan u= firam?

1. Rs.2305
2. Rs.2316.25
3. Rs.2315.25

4. Rs.2205

Correct Answer :-

e Rs.2315.25

65) In countries where polished rice is the main cereal in their diet, people
suffer from?/ at 3=1 fFa uifera (&1 fsard 1) araa g1 s A afIRa g e ae1 &
AR Y DI AT B qhedl 6

1. Osteomalacia/ 3R 3{HIRAT
2. Pellagra/ PP

3. Scurvy/ P

4. Beri-beri/ SR1-sRt

Correct Answer :-

« Beri-beri/ S¥-a3

66) If A: B=2:1and A: C = 1:3,then A: B: C is:/ﬂﬁA: B=2:13RKA:C=1:3
8.l A:B:C TTERI?

1.1:5:6

221:3:2

3.2:1:6

4.3:2:1

Correct Answer :-

e« 2:1:6

67) Anaemia occurs due to the lack of?/ 3cURaddl fPaP! HH! A §IA T T &2
1. Calcium/ Picqaw

2. Iron/ ?ﬁ'eﬂ
3. Iodine/ 3MafsT



4. Potassium/ urelR

Correct Answer :-

e Iron/ Fﬁ%T

68) By selling a table for Rs.350 instead of Rs.400, loss percent increases by
5%. The cost price of table is:/T® #d & 400 U4 ¥ 994 & g9 350 T4 |
I R Ufa=rd g1 5% ¢ Wil 8, @ A &7 ARTd Jod J1d HI |

1. Rs.417
2. Rs.1050
3. Rs.435

4. Rs.1,000

Correct Answer :-
e Rs.1,000

69) Conversion of excess amino acid into urea takes place in?/ 3fr® 3=t

3! BT g # ufkad= #8181l o:
1. Skin/ dd1

2. Intestine/ 3{id

3. Kidney/ gah

4. Liver/ I&d

Correct Answer :-

« Liver/ g&d

70) DIRECTIONS: In the following question, select the related
letter/word/number from the given alternatives./ﬁﬂ'ﬂ: ﬁwﬁr@amﬁﬁqw
faweul ¥ & TwafRa sieR/RIeg e 3t gl

15 11 7

7 9 12

8 6 ?

840 |594 |420
1.5

2. 60



3.9

4.70

Correct Answer :-

71) DIRECTIONS: Study the following information and answer the questions

given:/fdzm: & 8 @R @ AFYgd® v ik i feT Tyl & SwR S

Six persons P, Q, R, S, T and U are sitting in a circle facing one another front
to front. P is sitting in front of Q. Q is sitting to the right of T and left of R. P
is to the left of U and right of S. / S: A& P, Q, R, S, T 3R U TH gd A 93 § YT
AT TP R B AR A TP 938 | P, QF AW IBTIZ | Q, T F g BT AUTR
FIAASTIZ| P, U S TATUTS FIASTR |

Who is sitting opposite to S?/ S & faudld #1H da18?
1. T
2.U
3.R

4. Cannot be determined /ﬂ]ﬁﬁﬁm\_ﬂm%

Correct Answer :-
e« T

72) Price of sugar rises by 20%. By how much percent should the
consumption of sugar be reduced, so that the expenditure does not

change? /31 & gea & 20% @1 g 8t ot 8, D &t Tua &) fora-n ufo=ra &0 s
BT, a1fes i+ W W srufvafdd g2

1.16.66%
2.20%

3.15%

4.10%

Correct Answer :-
« 16.66%

73) Water stored in earthenware cools because?/ Hc® & 3icT W& 9d ST BldT
g R?

1. Water oozing out of the pores evaporates/ B gl T 5d arfeyd g1 Srar &



2. Earthenware is a good radiator of heat/ AT 38T BT 33T fafehur el &
3. Earthenware absorbs heat from water/ HcHhT Od &1 ST DI STNT B AdT &

4. Earthenware has high heat capacity/ T DI ST YRUT & 31w Bl §

Correct Answer :-

« Water oozing out of the pores evaporates/ @ﬁ%%—;ﬁ@raﬂm@as‘rm%

74) A prokaryote is?/ U% NHi¥AE 82
1. The most primitive multicellular organism/ WWH@W@H
2. A hard fruit/ U ®Sdh thd

3. An organism lacking membrane bound nucleus in its cells/ Teh Siid o HIRIGT H
f3reeht Jfed e urdT S §

4. A multi-celled organism/ Sg®IRI®H 14 Siid

Correct Answer :-

« An organism lacking membrane bound nucleus in its cells/ TH Sitg foren! BRI &
f3reett e dhaa T STl &

75) Five years ago, the ages of Bali and Geeta were in the ratio of 3: 4
respectively. Ten years hence the respective ratio of their ages will be 6: 7.
What is the difference between their present ages? /9™ a9 Ugd, areit 3R iar
DI TG HHIT: 3:4 & AJUTd | A1 GF 99 91g, STH! 3T BT YT HHRM: 6:7 TR | SD
AU Y H SR |82

1.7
2.2
3.5

4. 10

Correct Answer :-

76) The HCF and LCM of two numbers are 12 and 72 respectively. If the sum
of the two numbers is 60, then one of the two numbers will be:/ & T3 BT
. 9. 3R 9. 9. HUR: 12 3R 72 31 i Q) w@msi &1 a7 60 7, ot g} wemsii & v
T gt

1.72

2. 60



3.24
4. 12

Correct Answer :-

e 24

77) Which of the following cell organelles is involved in respiration?/ faad

P T BIRABTT 4991 H YR AT 8-
1. Nucleus/ Fah
2. Chloroplast/ FIRIERE

3. Mitochondria/ AIgcIbIal
4. Ribosome/ ﬂ%@@ﬂ

Correct Answer :-

« Mitochondria/ HAEcIHIAT

78) Which of the following electromagnetic waves has the longest

wavelength?/ 5 § & fra fagaa gaaia @ &1 axdd T Siftre g §:
1. Gamma rays/ T fhvot

2. Light rays/ Hedcal

3. Ultra-violet/ URI-aT!

4. Infra-red,/ 3faad fHol

Correct Answer :-

e Infra-red/ 3aRad o

79) Sweat contains?/ WU # gla18?

1. Pure water/ Y& S

2. Phosphoric acid/ BIpING 37

3. Calcium phosphate and water/ HIRTTH B C adT ST

4. Water, salt and waste matter/ Sidi, ddul ql mwﬁf

Correct Answer :-

« Water, salt and waste matter/ SId, ddUl 9yl W@]E’tl"c{r?j



80) Arrange the words given below in a meaningful sequence./ =9 fT ¢ wrsgi
1 ardquf o F srafRua Fiforg)

1. Doctor/ FIfca®

2. Fever/ 9@

3. Prescribe/ fd3=

4. Diagnose/ I &1 Aok
5. Medicine/ aﬂ'lé
1.2,4,3,5,1
2.1,4,3,2,5
3.2,1,4,3,5
4.2,1,3,4,5

Correct Answer :-

81) Some fungi have been found to cause diseases in man. Which of the
following do you think is one such?/ 9§d GR 9@ Hd AT ST Fd &, o
PITAT HIP AT AT B JhdT 8?

1. Rhizopus/ IS0
2. Puccinia/ g&ai=r

3. Aspergillus/ TEhioley
4. Agaricus/ 3FIR&®H

Correct Answer :-

» Aspergillus/ Twiofery

82) Which planets do not have satellites revolving around them?/ Fg# 3 &9
J 78 & e IR 3R $IS I IFH 8] AT 3

1. Mercury and Venus/ 9¥ ddl X[
2. Mars and Mercury/ H7Td 3R g4
3. Mars and Venus/ TTd 3R

4. Neptune and Venus/ 330 3R [

Correct Answer :-

« Mercury and Venus/ g4 d¥T Y[sh



83) Which letter will replace (?)? /&9 9T 31&R (?) &) ufawi1fd H¥m?

P &

Correct Answer :-

e T

84) In which of the following is sex determined by environment?/ Fgdd

s araTaR T & SrgaR foi fHufzor gar @2
1. Maize/ Hah1

2. Papaya/ gutdr

3. Bonnelia/ SHferm

4. Honeybee/ I@ZIH@

Correct Answer :-

. Bonnelia/Eﬁeﬂ%P?IT

85) A balanced fertilizer for plants is?/ UTgU & o1 Iugad T Agferd Sdv® HIA=T
FaT 5:

1. Urea/ giRaT

2. Compost/ fafsd @g

3. Super phosphate of lime/ T BT YR HIhC
4. Ammonium sulphate/ 3fAIMTH Tethe

Correct Answer :-
« Compost/ [f%d @rg
86) Which one of the following is a false fruit?/ ﬁaﬁﬁﬁﬂwwmm%‘:

1. Watermelon/ dqXqol



2. Cherry/ R
3. Apple/ EC)
4. Lemon/ Hig

Correct Answer :-

« Apple/ BSE)

87) A fan is listed at Rs. 150 and a discount of 20% is given. Then the selling
price is:/ T® U@ W 150 A Y4 3ifdpd forar Tam 3R 20% &Y ge A 715, ) fasva gea @
ghm?

1. Rs.150
2.Rs.110
3.Rs.180

4. Rs.120

Correct Answer :-

e Rs.120

88) In cactus, the spines are the modified:/mﬁmﬁﬁ)%lﬁﬁﬁﬁm
TR gIel &

1. Fruit/ Tdl

2. Stem/ d-Il

3. Leaves/ Tl
4. Buds/ Sicr

Correct Answer :-

. Leaves/ Ui/l

89) The purest form of water is?/ 9d &1 JGH J[SdH TPR HIAT g1 &
1. Sea water/ GHgl &d

2. Distilled water/ 3{I{d SIcl

3. Tap water/ Id BT UM

4. Rain water/ gyt BT Ut

Correct Answer :-

« Distilled water/ 3A{d SicT



90) Palaeontology is the study of?/ Udcialei fSHT 3reag- giar g2
1. Bones/ 3ifRuaf

2. Primates/ Eﬂéﬂ'c’

3. Fossils/ Sffared

4. Birds/ geft

Correct Answer :-

« Fossils/ SIARA

91) In the given figure, if ZABC = 90°, and zA = 30°, then <ACD=?/fReu f=x
Hafe LABC = 90°, TYT A = 30°, df LACD =?

A
30

B c D
1.120°
2.110°
3.130°
4. 100°

Correct Answer :-

« 120°

92) A man pointing to a photograph says, “'"The lady in the photograph is my
nephew’s maternal grandmother.’”” How is the lady in the photograph related
to the man'’s sister who has no other sister?/ wen'c{ﬁwa@?aﬁeh?m
A U BEAT S, "TER A ARA A RN yAF A IR 1" TR A S dsP 2 T8 3
3TeHl Ft 78 A fFa TR TwEfia 8 foras! o5 ok 951 781 82

1. Mother-in-law/ I
2. Sister-in-law/ TG/

3. Mother/ ar
4. Cousin/ FHior

Correct Answer :-

. Mother/ﬁ[y



93) The atmosphere exerts enormous pressure on us. But we do not feel it

because?/ IYHS R U AATUF 19 STeraT & b Wt a7 vy «g <) gia:
1. The surface area of our head is very small/ Bﬂﬁqu@ﬁ REL dgd ®H I

2. Our bones are very strong and with stand this pressure/ AR} 3r&fiat 9gd AoTad gidl &
T G B 96 FR AN §

3. Our blood exerts a pressure slightly more than that of the atmosphere/ AR Xdd
SH1d qRgHS T GaTd U geobl 91 TS g1 &

4. We are used to it/ gH ITb Hﬁ%ﬁﬂ%%

Correct Answer :-

« Our blood exerts a pressure slightly more than that of the atmosphere/ THRI Xdd
GATd gHSHIT GaTd W Geob T 31 Bial §

94) The effective radius of atom is?/ T& WRHIY] &I gUTd Hrear fra-t gidt §:
1.10 ® m/10 6 1f

2.10 14 m/10 14

3.10 10 m/10710 4

4.10 15 m/107 154

Correct Answer :-

« 1010 m/107105

95) 1

The simple interest on a sum after 4 years is > of the sum. The rate of
1

interest per annum is:/Ww&rwwﬁwwww, wu&rmg%,a‘rmﬁra?%:
1. 4%
2.6%
3.5%

4. 8%

Correct Answer :-
e 5%

96) Two numbers are in ratio of 5 : 8, If their difference is 48, then the
smaller number is: /<! T3 T UG 5 : 8 § 3T IAPT 3iaR 48 B, I DI T=AT



Tald|
1. 64
2. 80
3.96

4.128

Correct Answer :-

97) The main use of ‘magnesia’ is as a/an?/ AR HT 4B TGN F71 BT 82
1. Antibiotic/ Ufauifas
2. Pain killer/ 3¢ fAaR®

3. Antiseptic/ 3 JIIQR Yh
4. Mild laxative/ B! Iad Ny

Correct Answer :-

« Mild laxative/ WW@W

98) The main active constituent of tea and coffee is?/ I d HTHI & TE&IA: B AT
i acd uraT ST &

1. Aspirin/ TEUIRT

2. Nicotine/ Falifed

3. Chlorophyll/ FARITGA
4. Caffeine/ ohfth

Correct Answer :-

« Caffeine/ Hih

99) 0.2 +0.2-0.2 7 0.2x(0.2x0.2) = ?
1.0.36

2.1

3.0.2

4.0.04

Correct Answer :-



100) 1+ 2 14 2 .

The fractions 3, 7 and © written in ascending order given by: /3, 7 AT s @Y Gﬂﬂﬁ Y ¥ fora?
012
1. 7<3<5
2 &1
2.3<7<3
104 2
3.3<7< 5
12 3
4.3<5<'.'-"

Correct Answer :-

W=
=1 | o

A
(NN
A



